
(True/ False)
ftrfT

Hannonic mean is the reciprocal of arithmetic mean.

(True/ False)
ft fc^J

Sum of deviation taken from arithmetic mean is zero.

(True/ False)

(ft
Arithmetic Mean and Average are the same

(ft(ft TRK^^ ^T^ (ft

than)

^^^^ft

HOURS

If A = (2, 3, 4} , ^ ^ (4, 5, 6}
Then find AnB
^tfH A = {2, 3, 4} , ^ = (4, 5, 6}
ft 5lT?T AnB ^
V/hich of the following averages is a positional average?

(a) arithmetic mean (b) median (c) geometric mean (d) harmonic mean

fftftcrf^cT Wit ^ ef^^ ft ^^rfcl ^ft ^^ t?

t e^^ WITI ^^ 11eft

If ^5 = riQn. The value of n is .

li^^ nc$ = nCl.   c^̂^ ^H 11

(i) 12 (ii) 2 (iii) 35 (iv) n
If there are no members in a set then the number of its sub set is

(Less than/ More

fftftf ft
Formula of circular permutation is

2 5 8
GM of any two unequal quantity istheir AM.

11cff

find 11th term.HP-^I
2'5'8'
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MODEL-TEST - III
(Class XII)

^if^id (Mathematics)

BUSINESS MATHEMATICS
FULL MARKS - 100TIME -

GROUP-A
ALL Question carrying 1 marks (^^ft reft ft *^ 1 31^? t)



loss of  3to take a

girls is  3htofl5

lass.

i)

ttcF> cfrf ^f 45 fcf^n^ff 11 f^^^^ 15 ef^fi^f 11 15
30 ePSc^f chT ^TR 52 Rheil^l^ t ^ft TFj^^ cpf chf Wf ^fTC RbcililM
If mean of two items is 16 and H.M. is 9. find our their G.M.

^f^^ ^ft T^f chf ^{^ 16 rfTf ^T^fch W^ 9 t eft ^fchf ^llti^ WZ

In a business a man can make a profit of ^ 3000 with probability 0.6 or
^ 1000 with probability 0.4. Determine the expectations.
^^ch cjffxh 3TT^ cznq^^ ^ ^ffcf^ T^ 3000 ^0 chf efFf ch^nch f ef^ff

1000 ^0 chf \3^fcff t af^ Iffftchcff 0.4 11 ^T^^c^^ ^FHm^i^ f^ft^^f

There are 45 students in a class out of which 15 are girls. The average wei

45 kgs and that of 30 boys is 52 kgs. Find the average weight of the whole

^FT 3

GROUP-B

ALL Question carrying 3 marks ^^l^^t

^ffrf

(cf>)

Which is the method that can be used in any type of question of interpolat^

(a)Newton's method
(b)Binomial expansion method
(c)Lagrange's method
(d)None of these

(Tru  ̂/ False)

P(A and B) = P(A) x P(B)

(True/ False)

cf^ff A e^^ B MlR^chdl =A^tx B

(<^chic?H) v3M^fei cfjh

Secular trend cannot be curve-linear.

chief ?FTTJ^R cZfcf^^lcT ^
cf>T(ch)

(ch) vFfief? ^^T (^) Tjnff^R T^^^j (tj)

A time series is an arrangement of

(a)statistical data chronologically
(b)data not arranged chronologically

(c)both
(d)None of these

Mi

The average speed can be calculated by

(a)Jf (b)G.M (c)HM (d) None of these
tTTcT PlHleiRsia ^ il ^^\ W\ ^^^^T vJTT ^eTT %\

(^^)
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80

2003

20

one tic

square

75

2008

70

2007

75

2006

65

2005

80

2004
Value

Year

95

2002

90

2001

115

2000

105

1999

100

1998
Value

Year

Calculate harmonic mean of following numbers.

(ftR ^m^\ ^T ^Ic^cb ^T^T ^fKT cftftp^)

32, 35, 36, 58, 61, 73

From the following table. Calculate trend value by 4 yearly moving average

ile10l ft 4 cfftif ^Tcl W^ ~5K\ ^F# ^ ft^1 el)

Find

f(x) ^
Defferentiate with respect to X

3101^^1^1

, where/ft) ^ jc2-5x+73   1
-1 2

3   1
-1 2

.2

lfA =

A =

c2

b2

a2

1 c
1  b
1 a

=

ab

ca

be

c

b
a

1
1
1

Show without expanding at any stage that:

fcR^TR ft)tT ft^dl^ ft) :-

GROUP-C

ALL Question carrying 5 marks^TFT 5

^IT TTcfj ^jcf^ cf^T cFf "I |

In a single throw of two die. What is the probability of getting a total of 8.

i\ TRTf e^^ t[cj7 ^t?j rftftf ft MlRfc^ai ^T ^ ^ft ^WI vjft^ 8 ^t I

ft>
ftelT100 ftcf)ft f ftRFR 1 ft 100 ft

R ft ftcFTe^^

There are 100 tickets numberd from 1 to 100. They are well shuffled an
drawn at random. Find the probability that the numbers on the ticket drawn
integer.
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such  8

400

2009

320

2004

?

1999

250

1994

?

1989

180

1984

Production in
Lakh tons

(v^cMiq^ eM ^ ft)

Year
(erf)

60-70

Estimate the production for the year 1989 and 1999 with the help of followi ig table -

eft ^RTcTT ft 1989 c^ 1999 ef^^ ^^ feP^ ^TT^ ^ 3T5TM eFTT ft
31.

10

50-60

30

40-50

26

30-40

20

20-30

11

10-200-10

Frequency

Age

29.(')  If 75% boys prefered mangoes and 53% boys prefer bananas. Find the perc sntage o

students who prefer both mango and banana?

09 Find LCM of 12 and 18 by the method of set.

(i) ^ffft 75% cT^cj> 3TFT T^K ^[ t 3fk 53% ^^^ cftefT TT^ ^ft f eft

c^TT | vft 3TFT 3fl^

fftfft ft 12 cT^TT 18 cTO TTO
30.Calculate 'mean' and 'mode' of the following -

md3 8fessors

IT

s n  term and  8

10th term.

A.P cFT 7cjt c^ 12cff

10cff T^ ftt flTcT cfft |

There are 10 professors and 20 students out of whom a committee of 2 pr

students to be formed. Find how many ways these committees can formed if,

(a)a particular preofessor is included?

(b)a particular preofessor is excluded?

cftf^FJ 1% fft)cfft Clftcft ft ft c^^ff^^ftf ^ffl^ vjp ^cf^^t t| ^ffft

(ef))^

28.

: 34 3f^^ 64 t eft A.P ^TKT

Find the A.P whose 7  and 12 terms are 34 and 64 respectively. Also find i7th27.

^TFT83J3m

GROUP-D

ALL Question carrying 8 marks


